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MIDTERM EXAM

INSTRUCTIONS:


Answer all questions.  It is essential that you explain the reasoning behind your answers rather than just give the answers themselves.  Be as brief, but as rigorous, as possible.  The exam has a total of 30 points, with points for each question in parentheses.

My name is __________________________________________





(print)

I have neither given nor received inappropriate aid on this work.  Nor have I observed any academic misconduct on the part of others pertaining to this work.



_____________________________________________________





(signed at the end of the exam)

Potentially Helpful Formulas:

Beta definition

Textbook Formula WACC

βJ = Cov (rJ,rM) / σ2M
WACC = VD/(VD+VE) * E(rD) * (1-τC) + VE/(VD+VE) * E(rE)

CAPM Security Market Line Equation:

E((rJ ) = rF + βJ * [E(rM)- rF]

Dividend Discount Model with Constant Growth:

P0 = DIV1 / (r-g)

Growth Rate in dividends given constant plowback ratio and Return on Equity:

g = b*ROE

Present value of an N period annuity:

PV = A* [1-(1+r)-N)]/r

Return on Equity for year t

ROEt = Earningst / Book Value of Equityt-1
I. (6 points) 

A) What is a “Call Provision” for a bond?

B) How does a “Convertible” bond differ from other bonds?

C) Consider two bonds, CALL and CONV, issued by the same firm, with the same maturity date, the same coupon rate, and the same face value.  The only difference between the two bonds is that CONV is convertible but not callable, while CALL is callable but not convertible.  Can you tell whether one of the bond’s prices will always be greater than or equal to the other bond’s price?  If so, which will always be greater and why.  If not, illustrate conditions under which PCALL>PCONV and also conditions under which PCONV>PCALL.

II. (4 points) You have gone to work as CFO for Fatnhappy Corporation, which enjoys a large operating cash flow.  Future real investment projects, however, do not look very lucrative.  While potential future investments are expected to earn positive rates of return, the returns are lower than any reasonable estimate of their opportunity cost of capital.  

A) Would a program of greatly increasing future payouts to stockholders through an extensive stock repurchase plan, instead of accepting the low profitability real investment opportunities, be in shareholders’ interests? 

B) If you undertake the repurchase program in A over the next two years instead of the real investments, would you expect the market value of all of Fatnhappy’s outstanding securities two years from now (on the right hand side of the 2005 Fatnhappy balance sheet) to be higher or lower?

C) To what extent are questions A and B the same question asked in a different form?  Is there any sense in which they are different?  Explain carefully.  

III. (8 points) The current capital structure for Techdriver Company looks as follows:

Book value of debt = $20 million

Market value of debt = $13 million

Book value of equity = $4 million

Market value of equity = $6.5 million

Their debt consists largely of long term (maturing in 2019) bonds issued in 1999 and  paying a coupon interest rate of 4% of face value.  Since they issued their bonds, Techdriver’s bond rating has fallen.  In order to sell debt now, Techdriver would have to promise a coupon rate of about 8%.  Their equity currently has a β of 1.8.  The risk free rate of interest is 2%, and the expected return on the market portfolio is 9%.  Techdriver is currently paying taxes at the statutory 35% rate.  (Assume that all market interest rates, the rate of return on the market, and the statutory tax rate are expected to remain constant over time.)

A) Calculate your best estimate of Techdriver’s weighted average cost of capital, using the textbook formula.

B) A one-year investment project, with similar risk to the typical firm investment, is available to Techdriver.  This project requires an initial investment of $500,000. The expected cash flow one year from now is expected to be $539,000 and later cash flows are zero.  This $539,000 expectation figure at year 1 is computed as follows:

CF before tax at year 1 = 560,000

Depreciation (1 year)   = 500,000

Taxable Income           =   60,000

Tax @ 35%                 =    21,000

CF after tax
        =  539,000

Should the firm undertake this project if it is completely internally financed?

IV. (8 points) What effect, if any, would the following changes have on the proportion of debt in a typical firm’s optimal capital structure?  (Note: Consider each change individually in isolation from all other changes.)

A) The elimination of personal income taxes on dividend income

B) An unexpected increase in inflation, causing a rise in nominal interest rates and cash flows

C) An unexpected general decline in the economy, causing a fall in corporate earnings and operating cash flows

D) An expected economic decline, with the anticipated fall in corporate earnings and operating cash flows

V. (4 points) Many corporate announcements give rise to valuation effects that have nothing to do with the consequences of the decision that is being announced, due to signalling.  

A) What are the conditions necessary for a corporate decision to have a signalling effect?

B) What are the two general types of information signals in corporate capital structure decisions?  Illustrate the general nature and direction of these two signals in the context of the announcement of a Seasoned Equity Offering.

